Annual Report

Poway Unified School District Improvement Area A of Community Facilities District No. 14

January 31, 2010

Prepared For:
Poway Unified School District
13626 Twin Peaks Road
Poway, CA 92064-3098 T 858.748.0010

Prepared By: Dolinka Group, LLC 20 Pacifica, Suite 900 Irvine, CA 92618 T 949.250.8300 F 949.250.8301

Table of Contents

Sect	ion	Page
Intro	duction	1
I.	Audited Financial Statements	1
II.	Principal Amount of Bonds Outstanding	1
III.	Fund and Account Balances	1
IV.	Reserve Requirement	2
٧.	Assessed Value and Value-to-Lien	2
VI.	Special Tax Delinquencies	3
VII.	Major Taxpayers	3
VIII.	Report to the California Debt and Investment Advisory Commission	4
IX.	Changes to the Rate and Method of Apportionment	4
Exhi	<u>bits</u>	

Exhibit A: Detailed Direct and Overlapping Debt Report **Exhibit B:** Report to the California Debt and Investment Advisory Commission

Introduction

This Annual Report ("Report") has been prepared pursuant to the Continuing Disclosure Agreement ("Disclosure Agreement") executed in connection with the issuance of the Improvement Area ("IA") A 2006 Special Tax Bonds ("Bonds") by IA A of Community Facilities District ("CFD") No. 14 of the Poway Unified School District ("School District") in the amount of \$51,495,000 on June 22, 2006. The Bonds were issued pursuant to a Bond Indenture dated May 1, 2006 by and between the School District and Zions First National Bank, as fiscal agent ("Fiscal Agent"). Dolinka Group, LLC has been retained by the School District to act as Dissemination Agent ("Dissemination Agent"). The Bonds were issued to fund (i) finance, either directly or indirectly, the acquisition and construction of certain public improvements of the other public agencies, (ii) to fund a separate reserve fund for the 2006 IA A Bonds, (iii) to pay the costs of issuing the Bonds, and (iv) to pay the interest on Bonds through September 1, 2007, and administrative expenses.

I. Audited Financial Statements

A copy of the School District's annual audited financial statements for Fiscal Year 2008/2009 is available online at http://emma.msrb.org/.

II. Principal Amount of Bonds Outstanding

As of January 1, 2010 the principal amount of Bonds outstanding was \$51,175,000.

III. Fund and Account Balances

The balance in each fund, account, and subaccount of the Bonds as of January 1, 2010 is listed in the table below.

Fund, Account, and Subaccount Balances (As of 01/01/10)

Turia, Account, and Cabaccount Bar	
Funds and Accounts	Amount
Administration Expense Fund	\$30,275.39
CalTrans Improvement Account	\$12,189.84
Capitalized Interest	\$0.00
City Facilities Account	\$233,182.06
Cost of Issuance Fund	\$0.00
Interest Account	\$0.48
Letter of Credit Fund	\$0.00
Principal Account	\$0.00
Reserve Fund	\$4,648,431.27
Special Tax Fund	\$396,813.04
Total	\$5,320,892.08

IV. Reserve Requirement

The Reserve Requirement for the Bonds is an amount equal to the lesser of (i) ten percent (10%) of the original principal amount of the Bonds, (ii) one hundred percent (100%) of the remaining maximum annual debt service on the Bonds, or (iii) one hundred and twenty-five percent (125%) of the average annual debt service on the Bonds. As of January 1, 2010 the Reserve Requirement of the Bonds was \$4,736,382.06. As of January 1, 2010 the Reserve Requirement was not satisfied. The Fiscal Agent has been notified and the proper transfers will be made.

V. Assessed Value and Value-to-Lien

The table below shows the total assessed value, total direct and overlapping debt, and total value-to-lien ratio for all parcels within IA A of CFD No. 14.

Assessed Value to Lien

		2006 Special Ta	x Bonds	Other [2]			
Land Use	Total Assessed Value ^[1]	Principal Amount Outstanding	Value- to-Lien Ratio for CFD	Overlapping Debt	General Obligation Debt	Total Lien	Value- to- Lien Ratio
Tax Class 1							
< 1,800	\$27,511,474.00	\$1,749,874.89	15.72:1	\$1,857,128.72	\$239,260.02	\$3,846,263.63	7.15:1
Tax Class 11 < 1,900	\$813,554.00	\$94,056.42	8.65:1	\$102,338.92	\$7,075.26	\$203,470.60	4.00:1
Tax Class 12 1,900 - 2,100	\$5,754,846.00	\$364,887.80	15.77:1	\$387,187.54	\$50,048.38	\$802,123.72	7.17:1
Tax Class 13 > 2,100	\$31,065,351.00	\$2,102,494.57	14.78:1	\$2,233,833.94	\$270,167.15	\$4,606,495.67	6.74:1
Tax Class 2 1,800 - 2,000	\$57,150,577.00	\$3,780,502.37	15.12:1	\$4,025,142.69	\$497,023.47	\$8,302,668.53	6.88:1
Tax Class 3 2,001 - 2,200	\$12,734,145.00	\$966,801.35	13.17:1	\$1,070,213.74	\$110,745.49	\$2,147,760.58	5.93:1
Tax Class 4 2,201 - 2,400	\$16,079,877.00	\$1,177,048.61	13.66:1	\$1,259,848.99	\$139,842.44	\$2,576,740.04	6.24:1
Tax Class 5 2,401- 2,600	\$60,988,934.00	\$4,377,870.69	13.93:1	\$4,668,387.20	\$530,404.65	\$9,576,662.54	6.37:1
Tax Class 6 2,601 - 2,800	\$33,131,641.00	\$2,552,029.22	12.98:1	\$2,739,583.39	\$288,137.13	\$5,579,749.73	5.94:1
Tax Class 7 2,801 - 3,000	\$27,751,230.00	\$2,110,179.35	13.15:1	\$2,235,861.40	\$241,345.12	\$4,587,385.86	6.05:1
Tax Class 8 3,001 - 3,200	\$45,480,732.00	\$3,851,818.10	11.81:1	\$4,113,126.11	\$395,533.91	\$8,360,478.12	5.44:1
Tax Class U UNDEV	\$38,189,832.00	\$28,047,436.62	1.36:1	\$26,502,347.36	\$332,126.88	\$54,881,910.86	0.70:1
Subtotal for Taxable Parcels [3]	\$356,652,193.00	\$51,175,000.00	6.97:1	\$51,195,000.00	\$3,101,709.89	\$105,471,709.89	3.38:1
Tax Class E EXEMPT	\$428,909.00	\$0.00	0.00:1	\$0.00	\$3,730.11	\$3,730.11	0.00:1
Total [3]	\$357,081,102.00	\$51,175,000.00	6.98:1	\$51,195,000.00	\$3,105,440.00	\$105,475,440.00	3.39:1

^[1] Total Assessed Value as reported on the Fiscal Year 2009/2010 equalized tax roll of the County of San Diego.

^[2] Source: Detailed Direct and Overlapping Debt Report, National Tax Data, Inc. (attached as Exhibit A).

^[3] Totals may not sum due to rounding.

VI. Special Tax Delinquencies

The Special Tax delinquencies for Fiscal Year 2008/2009 and prior Fiscal Years within CFD No. 2005-1 are shown in the table below.

		Subject Fi	June 30, 2009					
Fiscal Year	Aggregate Special Tax	Parcels Delinquent	Fiscal Year Amount Delinquent	Fiscal Year Delinquency Rate	Remaining Amount Delinquent	Remaining Delinquency Rate		
2006/2007	\$598,512.62	6	\$11,352.69	1.90 %	\$2,042.04	0.34 %		
2007/2008	\$2,314,924.30	19	\$41,615.87	1.80 %	\$17,184.18	0.74 %		
2008/2009	\$2,933,072.62	38	\$83,781.38	2.86 %	\$83,781.38	2.86 %		
[1] Delinquenc	[1] Delinquencies as of June 30 th .							

Since the overall delinquency rate for Fiscal Year 2008/2009 did not exceed five percent (5.00%), foreclosure proceedings were not initiated.

VII. Major Taxpayers

"Major Taxpayers" are those property owners responsible for more than five percent (5.00%) of the Special Tax levy in a given Fiscal Year. The Top 20 Taxpayers' assessed value and their respective share of the Special Tax obligation for Fiscal Year 2009/2010 are shown in the table below

Top 20 Taxpayers

	Levy		Assessed	Value
Major Taxpayer	Amount	Percentage	Amount	Percentage
BLACK MOUNTAIN RANCH L L C	\$1,603,998.36	50.62 %	\$14,930,007.00	4.19 %
SHEA HOMES LIMITED PARTNERSHIP	\$92,534.34	2.92 %	\$9,634,418.00	2.70 %
W L HOMES L L C	\$82,608.54	2.61 %	\$11,315,973.00	3.17 %
LYON WILLIAM HOMES INC	\$66,830.98	2.11 %	\$13,441,575.00	3.77 %
DW LA JOLLA VALLEY L P	\$59,017.78	1.86 %	\$8,821,596.00	2.47 %
STANDARD PACIFIC	\$58,829.26	1.86 %	\$12,805,057.00	3.59 %
ATKINSON WILLIAM G	\$6,567.58	0.21 %	\$1,500,000.00	0.42 %
LOWENTHAL & TANIMOTO FAMILY TRUST 3 04-03-06	\$5,647.44	0.18 %	\$1,260,000.00	0.35 %
ABBOUD JOHN S & KRISTEN L	\$3,456.58	0.11 %	\$731,238.00	0.21 %
AZEVEDO FAMILY TRUST 10-19-07	\$3,456.58	0.11 %	\$708,702.00	0.20 %
ATKINSON ROBERT & ELAINE	\$3,456.58	0.11 %	\$750,000.00	0.21 %
BLACKBURN NATALIE J	\$3,456.58	0.11 %	\$740,000.00	0.21 %
BORST DARON W & MARSHALL SANDRA L	\$3,456.58	0.11 %	\$740,000.00	0.21 %
BUSTAMANTE FOREST L & CAEG- BUSTAMANTE ESTELA E	\$3,456.58	0.11 %	\$740,000.00	0.21 %
CALACSAN SIMEON V JR & CYNTHIA S	\$3,456.58	0.11 %	\$740,000.00	0.21 %
CHANG SUNG S & HAN WOOJEONG	\$3,456.58	0.11 %	\$720,000.00	0.20 %
CRABBE KEVIN L & ELKE W	\$3,456.58	0.11 %	\$720,000.00	0.20 %
DOMINGUEZ DAMIEN & KRISTIN	\$3,456.58	0.11 %	\$662,900.00	0.19 %
DSPAIN SUSAN L REVOCABLE 1996				
TRUST	\$3,456.58	0.11 %	\$740,000.00	0.21 %
DURAN RODOLFO H & MENDEZ RANFERIS Y S	\$3,456.58	0.11 %	\$750,000.00	0.21 %
Total	\$2,017,513.24	63.67 %	\$82,451,466.00	23.12 %

VIII. Report to the California Debt and Investment Advisory Commission

A copy of the report prepared and filed with the California Debt and Investment Advisory Commission pursuant to Section 53359.5(b) of the Act is included as Exhibit B.

IX. Changes to the Rate and Method of Apportionment

No changes have been made to the Rate and Method of Apportionment for IA A of CFD No. 14 as of the date of this Report.

S:\Clients\Poway Unified SD\SADM\CFDs\CFD No. 14 Improvement Area A\FY0809\Reports\ContDisc\Poway_14IAA_ContDisc_0809_FN.docx

Exhibit A

Detailed Direct and Overlapping Debt Report

POWAY UNIFIED SCHOOL DISTRICT Community Facilities District No. 14 Improvement Area A Special Tax Bonds

Detailed Direct and Overlapping Debt

Report Date: 12/14/2009 Report Time: 12:00:00 PM

	AI	1/-1
Ι.	Assessed	value

2009-2010 Secured Roll Assessed Value \$357,081,102

II. Secured Property Taxes						
Description on Tax Bill	Туре	Total Parcels	Total Levy	% Applicable	Parcels	Levy
Basic Levy	PROP13	959,714	\$3,705,485,109	0.09570%	1,085	\$3,546,227.02
Voter Approved Debt	VOTER	959,505	\$295,475,096	0.02286%	1,085	\$67,547.63
City of San Diego Black Mountain Ranch North Maintenance AD	LLMD	1,262	\$181,399	70.74763%	1,079	\$128,335.44
County of San Diego Vector Control, Zone A	VECTOR	531,711	\$1,491,137	0.00020%	1	\$3.00
County of San Diego Vector Control, Zone B	VECTOR	359,611	\$749,706	0.32845%	1,080	\$2,462.40
County of San Diego Vector Disease Control	VECTOR	945,654	\$5,286,916	0.07366%	1,081	\$3,894.58
Metropolitan Water District of Southern California Standby Charge	STANDBY	354,498	\$4,361,056	0.31099%	1,084	\$13,562.46
Palomar Pomerado Health GOB 2004	GOB	188,707	\$10,611,456	0.59319%	1,085	\$62,945.97
Poway Unified School District CFD No. 14	CFD	1,079	\$3,059,396	100.00000%	1,079	\$3,059,396.32
Poway Unified School District CFD No. 14 Impv Area A	CFD	1,198	\$3,168,749	100.00000%	1,079	\$3,168,748.60
San Diego County Water Authority Standby Charge	STANDBY	362,508	\$3,840,807	0.30775%	1,085	\$11,820.00
2009-2010 TOTAL PROPERTY TAX LIABILITY						\$10,064,943.42
TOTAL PROPERTY TAX LIABILITY AS A PERCENTAGE OF 2009-2010 ASSES	SED VALUATION					2.82%
III. Land Secured Bond Indebtedness						
Outstanding Direct and Overlapping Bonded Debt	Туре	Issued	Outstanding	% Applicable	Parcels	Amount
Poway Unified School District CFD No. 14	CFD	\$51,515,000	\$51,195,000	100.00000%	1,079	\$51,195,000
Poway Unified School District CFD No. 14 Impv Area A	CFD	\$51,495,000	\$51,175,000	100.00000%	1,079	\$51,175,000
TOTAL LAND SECURED BOND INDEBTEDNESS (1)						\$102,370,000
TOTAL OUTSTANDING LAND SECURED BOND INDEBTEDNESS (1)						\$102,370,000
IV. General Obligation Bond Indebtedness						
Outstanding Direct and Overlapping Bonded Debt	Туре	Issued	Outstanding	% Applicable	Parcels	Amount
City of San Diego GOB 1990 (Public Safety Communication System)	GOB	\$25,500,000	\$4,340,000	0.20609%	1,085	\$8,944
Metropolitan Water District of Southern California GOB 1966	GOB	\$850,000,000	\$293,425,000	0.01716%	1,085	\$50,343
Palomar Community College District GOB 2006	GOB	\$160,000,000	\$151,750,000	0.39928%	1,085	\$605,909
Palomar Pomerado Health GOB 2004	GOB	\$431,083,318	\$414,623,319	0.58854%	1,085	\$2,440,244
TOTAL GENERAL OBLIGATION BOND INDEBTEDNESS (1)						\$3,105,440
TOTAL OUTSTANDING GENERAL OBLIGATION BOND INDEBTEDNESS (1)						\$3,105,440
TOTAL OF ALL OUTSTANDING AND OVERLAPPING BONDED DEBT						\$105,475,439.53

⁽¹⁾ Additional bonded indebtedness or available bond authorization may exist but are not shown because a tax was not levied for the referenced fiscal year. Source: National Tax Data, Inc.

VALUE TO ALL OUTSTANDING DIRECT AND OVERLAPPING BONDED DEBT

Exhibit B

Report to the California Debt and Investment Advisory Commission

STATE OF CALIFORNIA MELLO-ROOS COMMUNITY FACILITIES DISTRICT (CFD) YEARLY FISCAL STATUS REPORT

California Debt and Investment Advisory Commission 915 Capitol Mall, Room 400, Sacramento, CA 95814 P.O. Box 942809, Sacramento, CA 94209-0001 (916) 653-3269 FAX (916) 654-7440

Del Sur IA A

Poway Unified School District CFD No 14

I. GENERAL INFORMATION

B. Community Facilities District Number/Name

A. Issuer

For Office Use Onl	V
CDIAC #	2006-0783
Fiscal Year	

C. Name/Title/Series of Bond Issue	2	2006 Special Tax Bonds		
D. Date of Bond Issue		06-22-2006		
E. Original Principal Am ount of Bor	$\overline{\$}$ and $\overline{\$}$	51,495,000.00		
F. Reserve Fund Minimum Balance R	_	,693,848.33		
I. FUND BALANCE FISCAL STATUS				
Balances Reported as of:	Jui	ne 30 2009	(Year)	
A. Principal Amount of Bonds Outsta	_	\$ 51,365,000.00		
B. Bond Reserve Fund	\$ 4	,610,508.39		
C. Capitalized Interest Fund	\$ 0	0.00		
D. Construction Fund(s)	\$_2	45,345.34		
II. ASSESSED VALUE OF ALL PARCELS	S IN CFD SUBJECT TO S	SPECIAL TAX		
A. Assessed Value Reported as of: 07		heck One)		
	Г	From Appraisal of Propert	У	
		(Use only in first year or be	fore annual tax roll billing commences)	
B. Total Assessed Value of All Parcel	.s \$_3	<u>\$</u> 356,652,193.00		
V. TAX COLLECTION INFORMATION				
A. Total Amount of Special Taxes Du	ıe \$ 2	,933,072.62		
B. Total Amount of Unpaid Special T	axes \$\overline{\xi}	§ 83,781.38		
C. The Taxes are Paid Under the Cou	nty's Teeter Plan.	Yes No		
. DELINQUENT REPORTING INFORM	ATION			
Delinquent Parcel Information Report		of: 06-30-2009	(Date)	
A. Total Number of Delinquent Parce		40	. ,	
B. Total Amount of Taxes Due on De	linquent Parcels:	\$ 108,872.85		
I. FORECLOSURE INFORMATION FO	R FISCAL YEAR			
(Aggregate totals, if foreclosure commenced on				
Date Foreclosure Commenced	Total Number of	Foreclosure	Total Amount of Tax Due	
	Parcels		on Foreclosure Parcels	

STATE OF CALIFORNIA MELLO-ROOS COMMUNITY FACILITIES DISTRICT (CFD) YEARLY FISCAL STATUS REPORT

(Continued)

VII. ISSUE RET	TIRED							
This issu	This issue is retired and not longer subject to the Yearly Fiscal Status filing requirements. (<i>Indicate reason for retirement</i> .)							
A. Matu	ıred Y	es No	If yes, indicate final maturity date:					
B. Refu	nded Entirely Y	es No	If yes, state refunding bond title:					
	• —		and issue date:					
C. Othe	r:							
VIII. NAME OF	PARTY COMPLETING	G THIS FORM						
Name	Benjamin Dolinka							
Title	President							
Firm/Agency	Dolinka Group, LLC							
Address	20 Pacifica, Suite 900							
City/State/Zip	Irvine, CA 92618							
Phone No.	(949) 250-8300		Date Of Report_11-02-2009					
Email	dginfo@dolinkagroup.co	m						

Completion and submittal of this form to the California Debt and Investment Advisory Commission will assure your compliance with California State law. Section 53359.5 of the California Government Code requires that all agencies issuing Mello-Roos Community Facilities bonds after January 1, 1993 to report specific information to the Commission by October 30th of each year.